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The histogram given below represents the marks obtained by some candidates in an examination.
" Using data in the diagram, calculate themode marks.
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The histogram given below represents the marks obtained by some candidates in an examination.
" Using data in the diagram, calculate themode marks.
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The histogram given below represents the marks obtained by some candidates in an examination.
" Using data in the diagram, calculate themode marks.
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The weights of 99 persons in a group are shown below.
" Find the mode weight.
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The daily wages of98 workers in a factory are given below.
" Find the modewage.
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A histogram with data is given below.
" Find the mode.
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The following histogram givesthe monthly consumption of electricity of85 consumers in a locality.
" Find the modeunits.
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Monthly consumption (in units) e———ap

(i) 122.29 units (ii) 132.29 units (iii) 112.29 units (iv) 127.29 units (v) 117.29 units



The daily profits of 135 shops in a department store are distributed as given below.
" Find the mode profit.
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The weights of 64 persons in a group are shown below.
" Find the modal class
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The daily wages of 75 workers in a factory are given below.
" Find the modal class

----- 504- :

| T

e |

| ;

---_-'4[!

| :

l -.

----- 35 -

: :

S =30 28- f
s I | :
; _____ s 24
k=1 | 4
g p-0 |
..... s -'

I - - ~10- -

..... 10 HEH S :

I __'_b_'__. -

_______ 5 f
3001 315 330 | 345 | 360 3?5

Wage (in rupees) s—an
(i) 315-330 (ii) 300-315 (iii) 360-375 (iv) 345-360 (v) 330-345

A histogram diagram with data is given below.
" Find the modal class
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The following histogram gives the monthly consumption of
12. electricity of 101 consumers in a locality.

Find the modal class
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